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1A 2, 200M 1m~28m
2N 4, 400M 29m ~56m 137.5H
3A 6, 380M 57m ~84m 151. 8H
4N 8, 360H 3, 300K 86m~112m 168. 3H
SA 10, 120M 113m ~140m 183. 7TH
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1A 13, 420M
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HAHE 2,090/
RERE KE2O0mMLUT (140. 8 x 20m) = 2,816
KE21m~40m (151.88 x20m) = 3,036
KE4 1m~50m  (165.0F x10m) = 1, 650
CHERECHET10%:A) KEREEF 9,592
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HAHE 3,300
RERE KE28mMUT (117. 7 x 28m) = 3,295M
KE29mM~50m  (137.5 x22m) = 3,025
CHERECHET10%:A) TAKEERHEE 9,620M
TKEFERF (—RRETS AHFDIES)
HAHE = 3,300
HHF AR S = 10, 1201
CHERECHET10%:A) TAKEERHEE 13,420
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